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. (1) FoE (2) FFE
. (3) I (4) =H Wil
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(2) Frontallobe Xt
(3) Perietal lobe " s
(4) Occipital lobe

2. The law which is not a part of Gestalt
views of learning 1s

(13 Law of similarity

(2) Law of proximity

(3) Law of closure

(4) Law of use

3. Who proposed that all children have
language acquisition device ?
(1)} Piaget (2) Chomsky
(3) Vygotsky (4) Dan Slobm

4. Testing used during instruction 10 aid 1r
planning and diagnosis is known as:

(1) Formative Assessment
(2) Summative Assessment
(3) Normative Assessment
(4) None of these

5. Which type of teaching material 1s mc

effective for a child with wisu
impairment ?

(1) Video based
(2) Visual material
(3) Tactile based
(4) None of these

<P
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_ (1) ofE &9et 3 farre
(2) GURESR e
(3) gheqi s
@ =7 B ﬁi el
8 friir i u e R e
F TETEHI BT
(1) sl
(2) .'ﬁ_-,_-f,'-r{-:Tr:“"!'r'.’:'
@) = aremEaT
(4) 3= W
10. RErr & oW e sfvm e
it forar ?

(1) Zt A
(2) 9rEeg |

. (@) g

L L

10.

.{31: Imnmdmlc memory

2 Epiaoio e

(4) Sensory memory

Which of the following is nof a
subordinate law given in 'trial and error ?

(1) Law of Multiple response

(2) Law of Attitude

(3) Law of Exercise

(4) Law of Response by analogy

Which of 'the following 15 mof an
example of children with special needs
as per RPWD Act, 2016 ?

(1) Acid attack victims
(2) Cerebral palsy
(3) Children with visual impairment
(4) None of these
Which of the following is an example of
Developmental Disorder ?
H} Blindness
Hearing impairment

(2)
(3) Intellectual disability
(4) 1

]'E"“-

Who proposed Advanced Drgﬂmzf:r
Model of teaching ?

(1) Bruner
(2) Pavlov
(3) Ausubel
(4) Piaget
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121. Which of the following theory viemﬁ |
cognitive development as @ socially
mediated process ?

l.

(1) Socio Cultural theory
(2) Social Learning theory
(3) Psycho Sexual theory
(4) Sign Learning theory

13. Using our current 'schemes' to interpret
the external world is known as :
(1) Assimilation
(2) Accommodation
(3) Organization

(4) None of these

14. Modelling is the concept given by :
(1) Alberlt Bandura
(2) J. B. Watson
(3) Freud
(4) Vygotsky

y: 15. wh i @ ge Fed g f& ‘g 15. A three year old boy says. "The sun is
wferg 217 38 US98 angry'. It is an example of :
{]} uHIH # (1) Animism
s (‘2} TGS F (2) Egocentrism

'.}_. R (3) Criticism

B el

(4) Intuition

e
b
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(1) @i gadi gfamm
(@) wiftas Tl

(3) cicdahas aﬁrT""lT
(4) Fro-rmio s .._j-..“:-_.;l_.; a7

20, UF ABAH egEsit & 390G, [FEE EGE
areer Fedl 1 fws 3w o

(1) S gdes &
(2) Fadms gdas &1

] .*.

18.

18.

20.

(3) Curiosity

Whmh of the following is n"m 11_]“_
{‘:IEEIIIPIE of n::qulred motive 7 .

(1) Attitude
(2) Interest

(4) Hunger

According to Piaget, the age range of
the substage ‘'mental representation’, of

the sensory motor stage 1s |
(1) Birthto 1 month

(2) 410 8 months

(3) 81to 12 months

(4} 18 months to 2 years

Which of the following is not a type of
Intelligence as given by Gardner ?

(1) Musical intelligence

(2) Spatial intelligence

(3) Interpersonal intelligence

(4) Analytical intelligence

After occurrence of a  desirable

behaviour, the teacher says 'very good'
to the child. She has used :

(1) Primary reinforcer

(2) Secondary reinforcer
(3) Negative reinforcement
(4) None of the above




4

™ hild as "Tabula-Rasw’ (Blank=31a s

{‘1'} Freud
(2) Piaget
(3) Skinner

(4) John Locke

23. The triarchic theory of sutcessiul
intelligence was given by

(1) Spearman

(2). Binet

(3) Thomdike

(4) Stermberg

Providing salary to the teacher at the

(4) T

24, R F) SOE B B AT # e B 24.
Sl qui?ﬂ 3 fHg 9=gd 1 AT end of every month, which schedule of
EET:IT% ? | reinforcement it reflects i3

(1) Fixed ratio (2) Variable ratio

() F=r oo (2) ARSI
[3) fray afcgs () =T AT

(3} Fixed interval (4) \ariable interval

25. Programmed learning is based on the

'1 D5y HiTe A [ 43 feas W T
| ananid © work of :
it (1) fér (2) Tt | (1) Skinner (2) Piaget
- (3) 9EdE (4) 95U | (3) Pavlov (4) Bandura
| 2. "TEACCH" programme is mostly used

126, "TEACCH" FPiH S5 BrE T
& dRTh # fareor % o ganr far o to teach ehildren with

(1) Hearing impairment
(2) Gifted students

(3) Intellectual disability

(4) Autism
P.T.0.
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30.. Mg 0@ sos fGEm e 3
AT ey SR &1 A Him E
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28, The psychologist Wh
i a lcurn;ng theory Uus
topology (A branch of ma

(1) Kurt Lewin

(2) Sigmund Freud

(3) William James

(4) Skinner

29, The teacher said Rekha that she is not
allowed to participate in Game penod
as she has not completed her home
work. It is an example of :

(1) Negative reinforcement
(2} Punishment

(3) Positive reinforcement
(4) Tangible reward

30. According to Freud the age range of

‘Oral stage’ of
development is :

psycho-sexual
(1) Birth to one year

(2) Birth to two years

(3) Birth to three vears

(4) None of thege
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- "My father burnt his hand ......... he was
E:ghung a candle.”

) bu

(2) while
(3) because
(8 since
8. Choosc the correct Passive Construction
for the sentenegigiven : B

M\ rs. Sharmaknows me.” % o
{1 l'am known'by Ms. Sharma.
(2))1 was known by Mrs. Sharma.

(3) 1am known 1o Mrs. Sharma.

(4) 1have known 1o Mrs. Sharma.

Choose the correct word for the
following expression :

~ One who is present every where

.ﬂJ Omnipotent  (2) Omniscient
£3) Omnipresent (4) Omnission

Whnnwes-awannl&ﬂim

slowly.”

(1) were shopping

(@) have been shopping
(3) had been shopping
(4) shopping

51. Choose the word which is spelt

correctly .
(1) comittee -\EFE
ﬂt}‘?“’b
(2) c-ummim_:_ el
(3) committee .
oD
(#4) commitee e \q\g\‘;’\?"b
52. 'Dancing is her hobby.
The underlined word is used asa : 0 (
W0
M) verb \ C
"‘-.q"}ka|l
(2) gerund 8
(3) participle
(4) adjective
Pi Tl- u
Rl




) He said 10 her that she is very

Fil] in the blank with the appropriate
aption :

"I paid the bill but the cashier did not

£1) receipt
(3) receiving

(2} receive

(4) received

95. 'She could not figure out the theme of
the play clearly,’
The underlipgd phiasal verb means :
(1) comprehend #2Y examine

(3) cnjoy (4) draw

36.  "The girl yho is wearing a red ribbon is

my sister."
The underlined words are a :
(1) Noun Clause

(® Adjective Clause

(3) Adverb Clause

8%.

E0.

drinking and gambling

(2) In
(4) of

Choose the most appropriate modal for

the blank : ﬁ'j

O s s swim for hours at the ageof 7

eight

{4} can (2) may Jl _‘1"-.
o

(3) might (4) could | .

|

"Maharana Pratap fought bravelv and | f&

won the war." ; {

The underlined word in the sentence has

been used as a : B
~

(1) Noun

(2) Verb

(3 Adverh

(4) Adjective

‘Agreement’ is a4 noun with 'ment' as a

suffix. Which of the following options

will become a noun if we add the suflix
‘ment' to it ?

(1) amuse
(2) extort

(3) correct

(4) ecolour




(2) 3
8 ¥A) 6 ffé
63, faETa 1 g+ H_m\“f‘"‘ :
o 2
@ = \_

IoIpaRir ,jﬂﬁf & T B
/ s A Exrsx ¢
AV

(2) &
(4) 12

_ Find the smallest aumber such that by

63.

64.

multiplying it with 24, a complete
square number is obtained ¢

(1) 2 (2] >
(3) 4

Find the odd-one :

(4) 6

(1) Oxygen
(2) lce

(3) Water
(4) Steam

The number of triangles shown in the

figure 15 :

(1) 6 (2) 8

(3) 10 (4) 12

P.T.
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67. B3 @ RBF I g9 vvEm a9
TR &, erga Jerd gt g
m%ﬁn%ﬁmmﬁ
Hﬁfﬁ‘fﬁﬂ?{m%mﬁﬁmﬂ?mﬁﬁa‘rmq—ﬁ
il & T Fr R m%

)
)

-h- 1..|I'|

(1
%

68. 3 TGN #avsT F mEMT A tfme

(U 14 2) 15

(4) 12

66. Statem

[I. A square has 4 angles,
Conclusion : A polygon has many
angles.
Then which of the following is carrect ?
(1) Conclusion is correct.
(2) Conclusion 1S wrong,
(3) Conglusionis not logical.

(4) None of these

In given figure, circle represents rich
people, rectangle represents
hardworking and triangle represents

rural people. Then rural people who are
‘,‘gh irdworking but poor, are indicated by

(1) .5 {2} 7

(3) 4 (4) &

'{'h:: maximum  possible number of
sundays in 3 consecutive calendar
months is -

(1) 14 (2) 15

(31413 (4) 12

ents : [ A triangle has 3 ﬂﬂglﬁs;';




et e
...... e first four numbers is 4. Average of las
et | four numbers is also 4. Average of all
12 e 'ﬁn seven numbers is 3. Find the founh’
0‘:‘@ number :
@ 3 22 0y 4 ® 3
(4) 7 -5 3y 11 4y 7
ﬁ Tﬁ i A g5 HEA S W‘; M 71. Find the missing numberin given square &
I I 1
L5 [52s | 18 0 o |50 28 | 18T
3 15 p10 | 12 o ki 10 | 12 |
" T s | . @’*ﬂ 0 | 5 | 2]
Y s ot M (1y.15 @ 10
(3) 20 (4) 25 (3) 20 (4) 25
'?E. 2Ol g 9% I A 72. Find the missing term of the series
| ': L e e T I T W T SR U
) 2}—?[&1?}5‘3“?&' 17 a5 2e T A 1_,_.. i
' (1 4 . (2). 52 o= i (1) 47 (2) 52
et ) S /. (4) 62 (3) 57 (4 62
. 2%
A - > i . . A
A & B 3 "TZI H 20% #H @1 B 73. If income of A is 20% less than mcome
Shang AT aa | faan ufteer st of B. How much percentage is B's
% 7 income more than income of A2
(1) 20% (2) 25% (1) 20% (2} 25%
. 2 1 2 2 o
(:"‘1,)) iﬁ:% |::-'-I.'] _";-_-:'!-a—‘?r’.:r i) ]{.’:—""I'l.l H—E} 'I_-_'Ilﬁul'l
3 3 3 4
74, & T g 4 faq ot@ g &9 % 74. How many 9's are there which are
. AR 87 followed by 9 in given series 7
I.' D QE?QE[]EQEEI}_’) 1992796569751 967899290 0R7990299903 199279636978 1967899290
-t o g
f' 5 (4) 6 (3) 2 (4) 6

I"'

JfF’ 12 'lﬂ _1.«:}:5'

i

P.T.0O.



i -Z:rs_i."?i_: j
RS 8, 12 @ 15 f e 23
SR 5. 9T B ) g weq & -
s
42 9605
(4) 9805

{2)3

Heanalt o ot &

x (1) 13 (2) 12 |

)
5 N
?ﬂ'} (3) 15 ) 14 /
e bl e 3 s |
qu’lﬂﬂ. ! ff 100 % 588 A Fah gm0 § oo 80.
o TH o R did E 7 |
ﬁ.ﬁgl (1) 9 (2) 11 |

(1) 4 minues

o T i | Rl B L SR
B 5 & h

g ey ?".I- 3 bl

ks =

=

L™

@ 21 minutes

AR o
. 4 : 4y — minutes P

ok number, when divided h}' g.-1% and

15, gives always remainder 5. Then

number 15 :
(1) B505
(3) 9705

(2) 9605
(4) 9805

Find the smallest number siich that 1f it is
added to sum of squares.of Y and 10,
then complete square 1s obtained ;

() 0 (2) 3
(3) 8 (4)y 13
5 i Facifes i
._,; -+¥ = lml 1S equal 1o
] o]
(1) L}..;. (2} 10—
' '-H':: |
il e N ES (4} [
l. %

"|---r..-|-1. y i (] - -
WEFAZE o e1ght numbers is 12. If each

number is increased by 2, then averape
ol new numbers i< : ;
(3) 15 (4) 14

How Many numbers ar
LU0 which
(1) 9

e there from 1 o
are ¢ alv i
“ie completely divisible by 72




e ) 7 2 A
BE o TR &

i (@3 ATl H
(3) g & (4) deEn A
I T [ ._-';-',' ATHHIT -'TE-'*'"J'
” SHATeN. U
| Al AR A H)
(1) 478 (2) 573
(3) 383 (4) 325

3 e &1 o e B
D) MEye & (2) w0 A

J}"' '.'

e e R | el M R

(4) ?Iﬁ«"ﬂ‘l"ﬂ'ﬁ

:_3_3. In which of the following fuﬂnﬁmhﬁ 'l
MNational Park is situated pi -

(1) Sultanpur
(2) Bhindawas
(3} NWahan

(4) Abubshahar

83. The river of Haryana, which onginates
from Rajasthan, is

(17 Markanda (2) ‘Sahib
(3) Ghagear (4} Saraswati
84. 'The Technological Institute of Textile
and Science’ 18 situated at :
(1) Cuarugram (2) Bhiwam
(3} Rohtak (4) Panchkula

85. As per the Census-2011, the population

density of Haryana is (in per square kam.) :
(1) 478 (2) 313

(33 385 (4) 32

LN

86. The first Nuclear Power Project of
Haryana is being set-up at ;

(1} Gorakhpur  (2) Kakroi

(3) Sampla (4) Yamunanagar

P.T.0:
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(3) & 3. A
() Ty 7

['3} Pinjore Garden, Panchkula
(4) Vigyan Bhawan, New Delhi

i

8. The Math (Monastery), wh.ichh
rejuvenated and chosen as main
by Baba Mastnath, was
(1) Kansrati
(2) Asthal Bohar

(3) Pehwa
(4) Jalandhar

89. The partner Nation in 31st Surajkund
International Crafts Mela was -
(1) Egypt
(2) China
(3) Thailand
(4) Japan

90. The Deputy Speaker of |

3th Legislative
Assembly of | lary

ana js -
(1) Kuldeep Sharma
(2) Kanwar Pal

3) RE Nandal

(4) Santo

0sh Yaday




g3, fETel & gfew 9 el o ¥
() 9= At @) b

(3) Sf¥eiE (4) A1 g
ST T T EEE] B ©
(1) Tt fifec ol

@1t oaRl
(3) SIEG L‘!-r‘-_\ﬁr >
H‘j AT j"“"'d.ﬁ'iﬂ

BB Pt § @ w0 onT WY OH HEO
L e R

(1) aifE @ fade

(2) =i gAETE

b () f-EcERE

@) Fer dfEs

i

(1_} ,lﬂ.t_ltgh_—E#lhiﬂWﬂr
(2} Coromandal

{3} Konkan

(4) Malabar

92. Samudragupta adopted the policy of
Sarvakardan (pay tributc), Agryakaran
(follow order) and Pranamagaman (bow
to him} with ruler of':

(1) Kamarupa  (2) Kanchi
(3) Veng (4) Abhira

93. The principle source of Indo-Greek
history is :
(1) Buddhist Text (2) Coins

(3) Epigraph (4) Travelogues

94. Personal Bias is possible under
(1) Random sampling
(2 Purposive sampling
(3) Stratified sampling

(4) Systematic samplhing

95. Which one of the following 15 not
exclusively a federal characteristic ?
(1) Distribution of Power
(2) Judicial review
(3) Bi-Cameralism

(4) Rigid Constitution

P 0:



99. 429 HumpioYe afifm (1976)
IR i B o D

=

SERiREal: e e i oo i

( TYS|®Tar. 4%&. HEVETT
(2) G5iiEME], TR e
§7) ST, St doy

(4) 94, dafrE argvem
100. 79 4%, &t 9w w2y § ompga o8
% -

(1) o a1 faey mfeay
(2) 990 % g ey

97.

98,

9.

100.

lankar
d_ {}1 v' ME"I."ﬂ ¥
(1) bandd (2 aande
(3) only b e s

Which among the following states of
India is not 'land locked’ ?

(1) Jharkhand

(2) Chhattisgarh

(3) Madhva Pradesh

(4) Karnataka

Imter Tropical Convergence Zone
(ITCZ) is located at ;

(1} Polar region

(2) Equatorial region

(3) Temperate region

(4) None of these

As a consequence of the 42nd
Constitution Amendment Agt (1976),
the following three \erms were inserted
in the preamble of the Constitution -

(1) Socialist, Secyl

ar, Inteprity
(2) Socialist. Repu

blic; Integrity
3
(3) Secular, I}u:nmc:r;ﬂiu, Sove

reign
(4) .‘-‘mvureign, Secul

ar, Integrity

:!'hu Gupta wmple which is not situated
in Madhygq Pradesh

(1) Vishny Temple of Tigawg

(2) Shiv Temple of
(3) Dashayat '
(4) Bhitargaon 7

a1 d
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103.

104.

105.

(4) Rajasthan
Secularism in Indian Constitution does
not include :

(1) No official religion of the state

(2) Doetrine of Benevolent neutrality
(3) Separation of state and religion

(4) Doctrine of Principled Distance

Among the following, what is not
included in the concept of 'Equality’ ?
(1) Protective Discrimination

(2) Homogeneity

(3) Reasonable classification

(4) Equal opportunity

In order to corrcct the situation of
deflation :

(1) Securities are purchased by the
commercial banks.

Securities are

2)

under possession
by the commercial banks.

Securities are purchased by the
central bank.

Securitics are sold by the central
bank.

P. T.-;ﬂ.
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PR ﬁu:i;n () Bestsst Neolithic S 8
T B A o Mahagars: (1) AswMOwRS 112
_ e & Ulioss (iif) Rice Cultivation
7 (iv) 1. Mehargarh (i) Pit Dwelling
et Code : :
A - (iv), B-- (i), € - (iii), D - (i) (1) A-(v), B~ (i), C - D, D =)
! ﬁ"'{ﬁl’ﬂ‘.‘ (iv): € - (iii), D - (i) (2) A - (ii). B - (iv), € - (i11), D - .{I}l
& 1 A - (i), B - (ii), € - (iii), D - (iv) (3) A - (D), B - (i), C - (i) Doy
@ A-(iv), B-(iii), C - (i), D - (j) @) A - (i), B - (iii), C - (1), D= (1) 7
07w, 9 D aee W R o ® 107. The place, where Ashokan inseription
ot ' has been found :
X (1) 3= (2) wefeys (1) Uijain (2) Patliputra
?g (3) T fg) (3) Taxila (4) Sanchi |
ﬁf 108. [ UF 95 & FHE 20 Fo ofy s o 108. When price of a good falls from < 20 1
W gt 15 $o O FFE & ot B, per unit to T 15 per unit, its demand
=@ q37 8 25 ufowa @1 gtz a6 & rises by 25 percent. Calculate price
e HET & o o s i B GEIG] elasticity of demand. (by percentage
_Fa.-ﬂ mfer 21 method)
_ i) (.88 (2 1.0 (1) 0.88 () 1.0
9"9 B .25 PS5 (3) 1.25 (4) 0.33
&1 908 HE ciouies o o ggEtTr B 7 109. 'I'i‘w mid-Atlantic ridge is an example
~ of
E;._ (1) 98 HHe (1) Divergent plate boundary
(2) SHEr dmE (2) Convergent plate boundary
(3) HrEs dmr (3) Conservative plate boundary
m W"W At W (4) Continent-Ocean convergence
boundary
110. F"fﬁiﬁlﬁﬂ Rra e ﬁ; "”‘_[IFJ“ 2’ R 110. In which of the following river, ‘Majuli
27 . river island' is situated 2
() () Fai (1) Brabmaputra (2) Kaver:
- () "W (4) % (3) Chambal  (4) Jhelum
-t

aval-2
g




(2) gvdiifemr §
(#) 7% g e
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(1) ¥ :

@) @

AT

*:. ﬁﬁﬁﬁﬁ

T
dit1 (A= UHET
A
(2) Vs
(4) s/
r[ Ci P4 _-GHTLE'-—[ T{

.:*..f

-(1)-‘ m.-Fmona] is lhe[’uhﬁﬁﬂ B
(2) Distinction between Sex and Gender
(3) Pairiarchy as a Power Structure
(4) Will to Power

113. ‘Milpa' is a shifting cultivation practised
n:
(1) Thailand
{(3) Mexico

(2) Indonesia
(4) North East India

114, The interest elasticity of demand for
money in liquidity trap1s
(1) Zerp
(2) Umty
(3) Infimte

(4} Between zero and one

115. Marginal propensity to save (A =
change, ¥y = Income & s = saving) =
(1} Ay/As (2) yis
(3) As/Ay (4) siy

116. The lcgend of Satyakam Jabal is
mentioned in :
(1) Jabal Upanishad
(2) Brihadaranyaka Upanishad
(3) Chhandogya Upanishad
(4) Kathopanishad

P.T.O.
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(1) A/ & v awar Tomey
(2) 91 Ft AT T =
BT & A
e T GEEET e

BT T
NDPyp + 557 879
GNPy + 55 STeT8T 7

(3) INNPyp=NDPyyp + fi3et & mra

ST A T

) NDPrc =GDPj- 507 &1

(1) Col M

(2INENP

121. 9 91 59 gufl o @d 3 4
g &l 8, FeEan ¥
(1) 79 @) s
(3) 397 (4) ITHIT

. Level-2/1212

118.

119,

120,

121.

[3} Munﬂpahstm competition
(4) Oligopoly

Identify the group of countries, in which

demoeratic  governments have been

established during 1975 10 2000 :
(1) Russia, South Africa, Vietnam,
Slovakia

(2) Turkey, Laos. Albania, Hungary

(3) Zimbabwe, Spain, Iran. Egypt
(4) Ialy. Greece, Poland. Latvia

If “Marginal Rate of Technical

substitution (MRTS) is consiant, then
Production Possibility Curve will be -
(1) downward sloping concave

(2) downward sloping convex

(3) downward sloping straight line

(4) horizontal line parallel 1o X-axis

Which of the following is incorrect 7
(1) GDPyyp= NDPyp 4 Depreciation
(2) GNPy= GNPy + Net mdirect taxes
(3) NNPup = NDPup + Net factor
ineome from abroad

(4) NDPpe= GDPy — Depreciation

The condition when the carth is closest
o the sun is known ag -
(I} Apogee

(3) Perigee

(2) Apehelion
(4) Perihelion
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. The theme of Amir Khusrow's Work *' =
‘Qiran-us-Sadain' is I
(1) Reconciliation  meeting  ©f '

Kaiqubad and Bughra Khan
(2) Military expeditions of Alauddin
Khilaji

(3) Gospels ol Nizamuddin Auliya
(4) Deval Rani - Khizra Khan gpisode

124, What does 'Jat' denote in Mansabdari
system 7
(i) Rank
(i) Salary
(iii) Military responsibility
(iv) Social Stats
Choose the correct code
(1y (1) & (i)
(2) (1) & (iv)
(3) (i) & ()
(4) (i), (i), (1) & (iv)

125. The 'Boer’ war is associated with ;
(1) Colonialism in Asia
(2) Colonialism in Alrica
(3) European History
(4) History of U. 8. A.
P.T
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128, g1 & I T W AP alr fo
T HE | A T T @ T B

gl -1

= =l A (e o)
() (1) 1966
(O) < (i) 1960

(c) BEZEE—
{d_j h‘l.i;."'-fﬂ

= (1ii) 2000
(iv) 1987
(v) 1975

e
(1) (@)~ (ii), (b) - (iii). (¢) - (iv). (d) - (v)

R (@)- (i), (b= iii). (c) - i), () - (iv)

C B @ (i), () - (i), (©) - (i), (@) - (v
N (4) (@)~ (iv), (b) - (ii), (¢) - (i), (d) - (i)

) (2) Freedom of Conscience = Right- o
(o Speedy Trial = Right to ..
Constitutional Remedies

(4} R-ighlnl'Minuriticﬁ . Cultural and
Educational Right

(3) Right

.|

127. The programmec of economic reforms in 8
Indin was started on lr
y 24 July, 1991
(2) 1 July, 1991
(3) | January, 1991
(4) 24 April, 1991
128. Match List-I with List-I1 and sclect the
correct answer by -11.*-‘.1[15 the codes given
below :
List-1 List-I1
(Name of State)  (Year of Formation)

(a) Gujarat (1) 1966
(b) Jharkhandg (11} 1960
() Haryana \)[iii] 2000
(d) Sikkim (v} 1987
(v) 1975
Codes ;
) (@) - (i), (b) - iy, (€) - (iv), (d) - (v)
MW oy f
(<) () {,l.:'_‘ (b) - (i), (c) - (i), (d) - (iv)
YT (a)- (i), (b) - (1), (&) - (i), (d) - (v)
(4) @~ (b) - Gy v s
)= (), (b) - (i), (¢) - (i, (d) - (iii)




(2) TVC T%
(4) AVC &

(37 Allam Prabhu
(4) Appar

131. 'Jet Stream' blows from :

MW@SI to East

(2) Eastto West
(3) South to North
(4) North 10 South
432. Politics of which state 18 polarized
along Vokkaliga-Lingayal casies 7
(1) Tamil Nadu
L) Karnataka
(3) Andhra Pradesh
(4) Kerala

|

133. 'Megalopolis' term was given by
(1) Grifith Taylor
(2) Jean Gottman
(3) Von Thunen
4}9] Lewis Mumford
134. The cost curve which is a rectangular
hyperbola is :
(1) TFCcurve  (2) TVC curve
l/é; AFC curve  (4) AVC curve

P.T.O
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138. 7 2011 # SFrrmr 3 aifs | HFEl
STEAIT, AT w136 H fefemrqr & -

(1) 926 (2) 949
(3) 940 (4) 919
139, iYL s 3 R 6
g ;I. i ‘l'_.':_-}"- r -:_,.
() 1A’ 5 e

(2) T e
(4) TR B fw sfgr-o

140. PN s= & @ Fesfofgy & 3 |
ey 3t off 2 |
(1) e |
(2) sy |
() gty |

I.. 'f

Pena a. imnl ..
:.:;mI:;mumlﬂ Whmhstﬂiﬂﬂflﬂdﬁ .

(1) Himachal Pradesh
w Punjab

(3) Uttar Pradesh

(4) West Bengal

ul'

136. [In Indian parliament. the total number

of nominated members are : .
S e

(1) 10 427 12

(3) 14 (4) 16

137. The 'Entrepot’ port for Asia is :
\ (1) Singapore (2) Bangkok

{3) Manila (4) Kolkata

138. As per census 2011 (Final Data), the
sex ratio in Rural India is -
(1) 926 (27 949
F
(3, 940 |__“ 019
139, AMOne the h*lhn‘-ﬁ:nu '|.'l,|"|;.'_'|_|_ iq i 'i“

contomuty with the

(1) Rule of Law

ldea of Demoer: acy 7

(2} Periodic Elections
(3) Majoritarianism

(4) Charter of Rights for citizens

140. Which of the !ﬂ!!mnn;: coined the term
geography’ 7
(1} Humbold;
(2) Aristotle
L3 Eratosthepes
(4) Blache
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144, =t woe USiTa B g A T8
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(D& (F13ivm) (2) ST
(3) T (4) T fa

145 w1 Rl 3 &r v §

[4 =FHd gD

%100 (2) 224
Ay Al |

(1) x100

A
—l 5100 L=4 100
- e o

\..f(ﬁ') Canaurfent fiat
(4) Residuary subjects

142. Accarding to census 2011, the Male
literacy rate of India is

(1) 753 % (2) 771 %
(3) 80.9 % (4) 88.8%

?ﬂjﬂ s

143. [dentify the incorrect pair of political
party and its founder leader :

(1) Jan Sangh — Shyama Prasad
Mukherjee

{,m Praja Socialist Party — N. G. Ranga
(3) Independent Labour Party — Bhim
Rao Ambedkar
(4) Congress Socialist Party — Acharya
Narendra Dev
144, The food item, which was not introduced
in India during Medieval Period ;
{1}~ Pumpkin (2) Potato
(3) Tomato (4) Red Chilli

145. Rate of inflation is equal to :
|A = Price Index]

(1) %100 (2) ’i_zidl.xmﬂ
2T A 4
4 A
3 1
®) X100 @ f o0
P-T;'n.



